Assembly Instruction

SLAW 135-8584-250 5/0 Headboard SKU# 32385848

SLAW 135-8584-251 5/0 Footboard w/ Slats 32785846

‘SLAW 135-8584-270 6/6 Headboard 32485840

SLAW 135-8584-271 6/6 Footboard w/ Slats 32885848

SLAW 135-8584-400 5/0-6/6 Bed Rails 32985840

Code PARTS LIST: i Step |Code Hardware List

Allen Boit - @5/16x18x45mm g 6Pcs
ik i ﬁ 1re 1 | H [Flatwasher- @5/16x22x1.5mm -@)’J\Q\ 6Pcs
B | Left Headboard & 1Pc Lock washer - @5/16 8Pcs
C | Right Headboard = 1Pc 1 I | Allen Key - 5mm —_ 1P
D | Footboard % 1Pc Bolt - @5/16x18xB9mm 8Pcs
— Flat washer - @5/16x18x1.5mm 8Pcs
E | Side Rails = 2Pcs s [k pioe e
F || By - ol 2 Curved washer - 25/18 8Pcs
G | Centerleg r— 3Pcs T S
K | Wrench - @5/18 Vo Pe
L | Wooden pegs- @10x40mm 0] } 4Pcs
4 M | Wood screw- #8x32mm Do 6Pcs

Hardwrara Danl- T n.r\n.i-:.r\-nfo\-

Hardwrara Dasl- T Aanatinnf o).




Assembly Instruction

SLAW 135-8584-250 5/0 Headboard

SKU# 32385848

SLAW 135-8584-251 5/0 Footboard w/ Slats 32785846
" SLAW 135-8584-270 6/6 Headboard 32485840
SLAW 135-8584-271 6/6 Footboard w/ Slats 32885848
32985840

SLAW 135-8584-400 5/0-6/6 Bed Rails

*#**Caution: Please read all instructions carefully before starting the assembly process. These parts are cumbersome and heavy. Therefore, two people
are recommended in order to prevent personal injury and insure the parts are not damaged during the assembley

STEP 1

STEP 2

Assembly the legs with the HB.
Note: left leg to left side HB, Right leg to right side HB Do not tighten
all bolts until HB is fully assembly.

Assemble the side rails to the HB and FB.

STEP 3

Y
|
|
|
l
0\
I
|
=i

=

:

~

~ e P
o i

STEP 4




